dN/dx,

Ratio to SLD

91 GeV ee vy*/Z (Hadronic)
I I I | I I

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

[ I I | I I I | I I I | I H
10* £ Tt Spectrum (e, u,d,s-events) =
10° £ E
10° =
- N
a
10 & A —=
= A =
— ’ﬂ -
L 'ﬂ_ —
N . ]
1 L. _
— N —
— ) . -
— |
10w sio =y =
= Pythia 6.424 ambt1 g -
L - Pythia 6.424 z1 N
10° = —
B | | | | | | | | | | | | | | | | | I_
- T - 1  + + 1 " "1 "
2 & =
1 -e...'.m'"""ooo 5 e A |
0.5 _|
L L L l L L L l L L L l L L L l L L
0 0.2 0.4 0.6 0.8



	Contents
	Page 1


